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1- In the right angled triangle, the square of the length of the .
hypotenuse equals
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If the two bodies move with a

uniform acceleration on a

horizontal smooth plane under

the effect of a horizontal force | o dabiic dlaay (S jmdy lawall O 13)
with  magnitude, then the |4&¥l 858l il a3 (ulal 881 (¢ sl
magnitude of the tension in the buall (3 ol e glé ¢ 4 lalite Al

string join the two bodies equals




sl Y aesd soir (£) Dynamics 3sec - model 1 And The model answer

-|A sphere (A} with mass 2 kg
moves in a straight line with
velocity 8 m/sec collided with
another sphere (B) at rest .If the
(A)
collision with velocity 6 m/sec in

sphere rebounded after
the same straight line ,then the
magnitude of the change in
momentum for the sphere (B)

kg.m/sec
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| 1f a force F acts on a body in a
direction parallel to x- axis so the
body moved in the same direction
of the force a distance S .The
opposite graph shows the force -
distance graph

Arrange the graphs in an

ascending order according to the
work done by the force
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A man of mass 70 kg stand on a

pressure balance fixed on the| . . Olte o iy aal Vo 4T o)

base of an elevator moves ) )

downwards with a uniform
Sl W PO T ik Yo
acceleration 1.4 m/sec?, then Olspell Bl 8 Olb ¢ Jawd & /8 ) E

the reading of the pressure
balance equals
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A body moves starting from a
fixed point in a straight line with | 44U Ahsi (e aifiee ba 8 &l s
an initial velocity 10 m/sec Ol OIS Gy G/ a Ve Al Ao

such that the algebraic measure ol il ANy ey diladd (gl
for its acceleration is given in

Qe V4 ¥ =z Al (e 4ain 5al

term of the algebraic measure
for its position x by the relation

a = 2x + 3, then its speed
atx=14m equals ....... m/sec
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-| The drawing figure represents
the acceleration — displacement | Zal 3yl - dlaall Jiaie Jiay o g all JSAN
curve for a body moved in a 3k anual
straight line with initial velocity G/ a Ve Al Aoy arfine Jad
10 m/sec. @i 2 ol sie Yooawall adaly of ey
If the body covered 30 m, then
v? equals

10
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A body of weight 490 newton

moves downward an inclined | 5 14 Ao g & s (fias £ 90 41y an
plane inclined to the horizontal

A3 Y o ey o 6 e Sy
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by an angle of measure & with a
uniform velocity such that tan

g = % ,then the resistance of the oM . 6 s puall 3 jad (g shuaall
plane to the motion of the body

equals newton.
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A body of mass 500 gm fall from
the height 4.9 m above the
ground ,then its kinetic energy

when it reached the ground equals
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A locomotive whose power is

504 horse pulls a train whose . e et
4“:!":5 .1 O - B w * % .
mass equals 216 ton. If the train S QS S

on a straight road with its|e=Sh B Gk o dpad gh Y)Y

maximum velocity against a | J aaS Jdsi 0 Jalad Ole slie o 4l de

resistance equals 5 kg.wt for Sl de ol ¢ AR e ohb
each ton of the mass, then the

: : o s slidele (K i WS
maximum velocity of the train in

km /h equals

35
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A force of magnitude F inclined

leaslid A5l 3 Y1 o Jaad ) W e 858
8 ostue Jo @ Al lawa awi @

to the horizontal by an angle
with measure & pulls a body of
mass m placed on a rough | 13 g Alidc pw 3 Adlwel (s

horizontal plane for distance S - Al ASRY Jdae oS
with a constant speed V. SaldCe -

If the Kinetic Frictional force | 5% O» Jsnall il g8 ¢ ¢ (o siall
between the body and the plane 6 sy ALY
is u ,then the work done by the
friction force equals
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A simple pendulum the length of
its chord is [ and the mass of its
sphere is m .when the pendulum | , 4 Jsaitl 8 S AU, o4y Jsh sk
starts its motion its chord
LS 435l jo )iy aduay RETY | FEEXTRYTRRY
oscillated forming an angle of et oy iy ol iy Lo
measure & with the vertical ,then el & 0
the changfe of‘ th(? potential Aal Y oin Dl gum N dslhs 3l s
energy during this displacement
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-| A smooth ball fill from a height {
on a smooth ground so it
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rebounds vertically upwards
.Which of the following graphs | 4!l dslhall Jiay 281 dgladl Cile gu )l
represents the total energy for RaEB PR
the ball and the height
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body is hanged by a string in a spring

balance fixed at the selling of a lift Gl s 8 bk Ahuly aws Gl

moving vertically .If the tension on tial + ol o s e ..
deans Q3 [IEEEPY

the string equals 50 kg.wt when it | ~ )T s B E )

ascends  with an  ascending Jiiov (ol sl 8 adll OIS 136 ¢

acceleration of magnitude 2.45 | b jlsie ol Alaey sl (U aaS
m/sec? find the mass of the body b Bl sl RS sl 5/ 0 ¥ £0
hanged in the spring balance .If the . ‘
lift moves downward with the same | ¢ 2l [ o 3l Gl
acceleration, find the reading of the CpaS Jiisan 0 )l jaall e y8 2 4l

balance in kg.wt.
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A bullet of mass 20 gm is shot
horizontally collide (impact) with a
wooden barrier when its velocity
was 294 m/sec to embed in it for 5
cm Lfind the work done by the
resistance of the wood assuming it
is constant
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A body of mass 210 gm is placed on a
smooth inclined plane inclined to the

horizontal by an angle whose sine % If
the body is attached by a light string

passing over a small smooth pulley

located at the top of the plane and the ¢
) . LA ol 3ie 48 HAY] 48 3 Uasy
other end of the string is attached to a o 35 gl 1 ?

Pan whose mass is 70 gm which flon Wy A s, (el gl W'
included a body of mass 210 gm on it .if | ¢sSw (e 4 all de gesall iy
the set started its motion from rest, find A gl A€ Ll Lucdl sl

ol i Ji 38 jal

; Os Ot Y 2 AU e asenll 2l 13
If the body is taken away from the Pan ) -
after 7 seconds from the starting of the A geaall (S (e 25l A8l ey

the pressure on the Pan in kg.wt during
the motion.

motion, find when the set rests ¢ Gl

instantaneously?
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A smooth sphere of mass 15 kg moves b (8 )aT paS Vo LS lude 5 S
in a straight line with velocity 11 m/sec |5 & cial &y VY e ju affiue
reacl'led a.nother sphere of ma?.s 24 ].{g ol b AT S Y L gl
moving in the same direction with o ) ]
velacity 5 mfsec and collided it if the | Dbt e & doju LT
velocity of the first sphere after collision |V asladll aay I VI de ju Gl

became 7 m/sec and in its direction, |z ooyl Lol Gl iy Y

find the velocity of the second sphere Sl o5 5 plae sl smy 28 5 1

just after collision then find the loss of
kinetic energy due to collision. plaailly 83 sasall 48 all Adlls
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A body of weight 980 newton is placed
on a rough inclined plane inclined to the

horizontal by an angle of measure 60° .If

the static coefficient of friction between
the body and the plane equals 0.75 while
the Kinetic
between the body and the plane equals

coefficient of friction
0.5 If a force of magnitude F acts in the
direction of the line of the greatest slope
upward, Find:
a- The force F which make the body
start its motion on the plane upward
b-The force F which keep the body
moving upward.
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S50l i Cind aaS ) AU i
A body of mass 1 kg under the effect of |._ o o o
a force F=37+4] , if the |9 &L @iy et +ov =y

—

displacement S is given as a function on G Al b el o A e
time t by the relation S = (3t? + t)1 —
4t] where T and ] are tWo |lus ¢ st —r(ut wY) =

-

A S—

perpendicular unit vectors. s ms
SHSIY el S o el ¢

If F in newton, S in meter and ¢ in )
AL ¢ gl B ¢ il v

second, find the work done by the force

F during the time interval [ o, t ] ,then Ja v sl e sl Jadl am s
find the power generated after one

minute in joule 8%l da gl &3 [ ¢ v ] Aaie il 8yl

sl g 48180 dmy (J gl 80 5Ll




el aesd gour (1)) Dynamics 3sec - model 1 And The model answer

A body of mass 250 gm. moves in a | e a3 mb ol ja Yoo 43S o
straight line under the effect of a force R S
N B gall i3 Can
F=(5t—2)1— 4t starting from rest y 5 -
from a fixed point on the straight line. 0o Gdite ¢ it (Y-0) =v

If the force F is measured in newton, ¢ ball Gl 40 dual ALE 0o oSl
in second, find the velocity vector in | ¢ il duwie o S, Al
term of time, then find the displacement | ., S A e yull Asie as g Al
after 3 seconds from the starting of the

. A8 gall el (0 4G Y g dal N aa ff A
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| A train of mass 49 ton moves with a Aabiis Ay yuy oh £9 40K s
uniform velocity on a horizontal straight

2 5 [RY UIS “"" 13 %
road and the magnitude of the resistance 7 d R S b e

of the road against it equals 750 kg. wt. W paS & Yo al Gkl Al

Ala 4 el Ceals 4S s gl
If the engine of the train stopped, find g ' A
the decreases in its kinetic energy in | & ) 4hwe by O e Jsalb 45 a
joule after covering a distance 1 km | sl culS 135 445 e iall of (i

A | e S D A s Uil A e
If the kinetic energy of the train at the ) )
end of this kilometer equals 245 x 10% | >0 25l de T Ve x Ve g
Joule, find the power of the engine & all

assuming that the resistance is fixed.
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